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Trapezoids & Kites
(  Remember:  ALL work must be shown to receive credit.  Don’t forget to check!
Find the indicated values.
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MN is the median of trapezoid HJKL.  Find each indicated value.



3)
Find MN if HJ = 32 and LK = 60





4)
Find LK if HJ = 18 and MN = 28


5)
Find MN if HJ + LK = 42


6)
Find m(LMN if m(LHJ = 116°.


7)
Find m(HJK if HJKL is isosceles and m(HLK = 62°.


8)
Find HJ if MN = 5x + 6, HJ = 3x + 6, and LK = 8x.


9)
ABCD is a quadrilateral with vertices A(-9, 1), B(2, 3), C(12, -2), and D(-10, -6).  



Is ABCD an isosceles trapezoid?  Show AND LABEL all work.

(Remember:  You’ll need to set up and solve 6 separate formulas.)


10)
Given:  ZYXP is an isosceles trapezoid with bases 
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 and 
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.

Prove:  
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Δ

 is isosceles.
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	1)  ZYXP is an isosceles trapezoid with bases 
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Δ

 is isosceles.
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